Math Connection  MSHS7-HS-5
You are dispatched for a 49yo male in cardiac arrest. Standard protocol calls for IV access along with cardiac drugs. Since most medications for IVs are prepared based on weight you will have to calculate the appropriate dosage.

Directions: give .5 mg atropine per kilo for each calculation.
1 lb is equal to 2.2 kilograms 

Example: Pt weighs approximately 140 lbs 
First divide 140 by 2.2  = 64  kilograms                 

Need 1.5 mg per kilo, .5 x 64 = 32 mg of atropine

1.
Pt weighs 160 lbs, give _______mg of atropine

2.
Pt weighs 180 lbs, give _______mg of atropine

3.
Pt weighs 120 lbs, give _______mg of atropine

4.
Pt weighs 90 lbs, give _______mg of atropine
